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function(h=house,k=c(1001,1030),p=c(10000,18700),r=c(1,6),a=c(1,10),m=c(100,335),P=c(0,1))
house=house[order(house$price,decreasing = F),]
house[which(k[1]<=house$code & house$code<=k[2]

&p[1]<=houselprice & house$price<=p[2]
&r[1]<=house$room & house$room<=r[2]
&a[1]<=house$area & house$area<=al[2]
&m[1]<=house$m2 & house$m2<=m[2]
&P[1]<=house$parking & house$parking<=P[2]
),1}
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> f(house,,,,c(1,2))
code price room area m2 parking

16 1016 14500 2 2 175 1
21 1021 16000 3 2 200 1
27 1027 17800 5 2 290 1
28 1028 18100 5 1 305 1
29 1029 18400 6 1 320 1
30 1030 18700 6 1 335 1
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> T(house,,,c(3,3))
code price room area m2 parking

17 1017 14800 3 6 180 0
18 1018 15100 3 5 185 0
19 1019 15400 3 4 190 0
20 1020 15700 3 3 195 1
21 1021 16000 3 2 200 1
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> f(house,,c(15100,15700),c(3,3))
code price room area m2 parking

18 1018 15100 3 5 185 0
19 1019 15400 3 4 190 0
20 1020 15700 3 3 195 1
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> f(house,,c(15100,15700),c(3,3),,,c(1,1))
code price room area m2 parking
20 1020 15700 3 3 195 1
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1~ tester=function(n){
w=rbinom(n,5,0.7)
w=(w/sum(w) )
y=rbinom(n,1,0.5)

ybarw=sum(w*y)

return(Cybarw)
-~}
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13 ysim=1:999

14 for(i in 1:999){ysim[i]=tester(10)}
15 m=mean(ysim)

16 s=sd(ysim)

17 a=((mA2 - mA3)/sA2)-m

18 B=(a/m)-a

19

20 hist(ysim,breaks = 20,freq=F)

21 xfit=seq(min(ysim),max(ysim),length=50)
22 yfit=dnorm(xfit,m,s)

23 zfit=dbeta(xfit,a,B)

24 Tines(xfit,yfit,col="blue")

25 Tlines(xfit,zfit,col="red")
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